2024 ER A5 THERT

—RHEEANBREEEMIER
2024%4R 2024%5H 202446 H 2024%7RH 20244 8H 20244%9R
R = HE aE HE aE HE aE HE aE HE aE HE aE
uA | Rit | 48 | Ret | 48 | Bt | 45 | Bt | 48 | Bt | 48 | Ret | uA | et | 48 | 2et | 48 | Ret | 48 | B2t | 45 | 2t | 48 | ;s
< 1t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
1t/h = < 3t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 2 2 30 30 0 2 0.0 30
3t/h = < 6t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
k| 6t/h = <10t/h 0 0 0.0 0.0 0 0 0.0 0.0 1 1 19.2 19.2 0 1 0.0 19.2 0 1 0.0 19.2 0 1 0.0 19.2
10t/h = < 20t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
20t/h = < 30t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
30t/h = < 50t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
&l soth=< 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
& it 0 0 0.0 0.0 0 0 0.0 0.0 1 1 19.2 19.2 0 1 0.0 19.2 2 3 30 299 0 3 0.0 222
Wi B i — — — — — — — - - - - -
W ER A — — — — — — — — — — — — — — — — — — — — — — — —
< 1t/h 0 0 0.0 0.0 0 0 0.0 0.0 2 2 15 15 0 2 0.0 1.5 0 2 0.0 15 0 2 0.0 1.5
1t/h = < 3t/h 1 1 15 15 1 2 24 39 0 2 0.0 39 0 2 0.0 39 0 2 0.0 39 0 2 0.0 39
fm| 3t/h = < 6t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
| 6t/h = <10t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
E 10t/h=< 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
= & it 1 1 1.5 1.5 1 2 24 3.9 2 4 1.5 54 0 4 0.0 54 0 4 0.0 54 0 4 0.0 54
0] A [e%, 20.0% 4.8% 100.0% 160.0% 200.0% 62.5% = = = = = =
B B A K 33.3% 33.3% 20.3% 20.3% = 66.7% = 52.7% 50.0% 57.1% 17.9% 34.2% = 57.1% = 34.2% = 50.0% = 30.7% = 36.4% = 25.5%
< 1t/h 3 3 1.8 1.8 1 4 0.3 2.1 1 5 0.6 2.7 3 8 24 5.1 1 9 02 53 3 12 14 6.7
1t/h = < 3t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 1 1 22 29 0 1 0.0 22
B 3t/h = < 6t/h 0 0 0.0 0.0 1 1 4.0 4.0 0 1 0.0 4.0 2 3 8.1 12.1 1 4 33 15.4 2 6 7.0 224
6t/h = <10t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
10t/h = < 20t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 1 1 10.0 10.0
z-gl 20t/h=< 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
& it 3 3 1.8 1.8 2 5 43 6.1 1 6 0.6 6.7 5 1 10.5 17.2 3 14 5.7 229 6 20 184 413
0] A [e%, 37.5% 28.6% 66.7% 238.9% 50.0% 14.0% 500.0% 1750.0% 60.0% 54.3% 200.0% 322.8%
Bl & @B B k| 300.0% 300.0%| 257.1%| 257.1%] 200.0%| 250.0%| 1653.8%| 635.4% 20.0% 85.7% 0.4% 4.3% 62.5% 73.3%| 102.3% 10.4% 60.0% 70.0% 14.8% 11.3% 50.0% 62.5% 22.3% 14.4%
< 05t/h 181 181 38.4 38.4 140 321 29.4 67.8 174 495 37.3 | 105.1 198 693 449 | 150.0 189 882 398 | 1898 220 | 1,102 479 | 2377
05t/h= < 1t/h 102 102 60.7 60.7 89 191 569 | 117.6 104 295 647 | 182.3 129 424 812 | 2635 114 538 757 | 3392 185 723 | 1132 | 4524
B| 1t/h= < 2t/h 70 70 87.1 87.1 91 161 | 108.7 | 1958 49 210 60.0 | 2558 73 283 809 | 336.7 104 387 | 1236| 4603 158 545 | 1853 | 645.6
2t/h = < 3t/h 69 69| 1445 1445 86 155 | 1865 | 331.0 95 250 [ 2020 | 533.0 120 370 | 2505 | 7835 118 488 | 2525 | 1,036.0 170 658 | 3715 1,407.5
3t/h=< 22 22 86.0 86.0 25 47 840 | 1700 31 78| 1200 | 290.0 28 106 | 1160 | 406.0 33 139 990 | 505.0 72 211 | 2680 7730
b & it 444 444 416.7 416.7 431 875 465.5 882.2 453 1,328 484.0 | 1,366.2 548 1,876 5735 | 1,939.7 558 2,434 590.6 | 2,530.3 805 3,239 985.9 | 3,516.2
0] A [e%, 62.3% 44.2% 97.1% 111.7% 105.1% 104.0% 121.0% 118.5% 101.8% 103.0% 144.3% 166.9%
Bl O B B | 121.3% 121.3%| 153.1%| 153.1% 97.7%| 108.4%| 105.5%| 123.6% 88.8%| 100.8% 99.3%| 113.7% 99.5%( 100.4% 90.9%| 105.9% 89.7% 97.8% 74.0% 96.2% 94.8% 97.0%| 105.7% 98.7%
=i E 448 448 420.0 420.0 434 882 472.2 892.2 457 1,339 505.3 | 1,397.5 553 1,892 584.0 | 1,981.5 563 2,455 599.3 | 2,580.8 811 3,266 | 1,004.3 | 3,585.1
g 0] A [ag, 61.7% 42.9% 96.9% 112.4% 105.3% 107.0% 121.0% 115.6% 101.8% 102.6% 144.0% 167.6%
Bl OE B B H| 121.1%| 121.1%| 149.8%| 149.8% 98.2%| 108.6%| 106.9%| 123.6% 88.1%| 100.6% 77.8% 101.9% 98.9%( 100.1% 91.1% 98.4% 89.6% 97.5% 71.5% 90.5% 93.9% 96.6% 98.6% 92.6%
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2024%4R 2024%5H 202446 H 2024%7RH 20244 8H 20244%9R
N = HE aE HE aE HE aE HE aE HE aE HE aE
uA | Rit | 48 | Ret | 48 | Bt | 45 | Bt | 48 | Bt | 48 | Ret | uA | et | 48 | 2et | 48 | Ret | 48 | B2t | 45 | 2t | 48 | ;s
< 1t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
1t/h = < 3t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
3t/h = < 6t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 3 3 9.0 9.0
K| 6t/h < <10t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
10t/h = < 20t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
20t/h = < 30t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
30t/h = < 50t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
50t/h = < 80t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
& 80t/h=< 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
& it 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 3 3] 9.0 9.0
Wi B i — — — — — — — - - - - -
B E R Ak — — — — — — — — — — — — — — — — — — — — — — — —
_ & i 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
}5; W OB — — — — — — — — — — — —
B E R Ak — — — — — — — — — — — — — — — — — — — — — — — —
& i 0 0 0.0 0.0 1 1 2.3 23 0 1 0.0 23 0 1 0.0 23 0 1 0.0 23 0 1 0.0 23
§ W OB — — — — — — — — — — — —
B E R Ak — — — — — — — — — — — — — — — — — — — — — — — —
0.0
- & i 15 15 19.8 19.8 15 30 275 473 9 39 16.6 63.9 26 65 27.6 91.5 11 76 12.3 103.8 18 94 19.3 123.1
?FL 0] A [e%, 55.6% 50.4% 100.0% 138.9% 60.0% 60.4% 288.9% 166.3% 42.3% 44.6% 163.6% 156.9%
Bl & B B k| 750.0%| 750.0%| 900.0%| 900.0% 83.3%| 150.0%| 122.2%| 191.5%] 100.0%| 134.5%| 158.1%| 181.5%] 118.2%| 127.5%| 121.6%| 158.0% 64.7% 111.8% 46.8%| 123.3% 39.1% 82.5% 24.8% 75.9%
=i E 15 15 19.8 19.8 16 31 29.8 49.6 9 40 16.6 66.2 26 66 27.6 93.8 11 77 12.3 106.1 21 98 28.3 134.4
:‘% 0] A [ag, 55.6% 50.4% 106.7% 150.5% 56.3% 55.7% 288.9% 166.3% 42.3% 44.6% 190.9% 230.1%
Bl &£ B B k| 750.0%| 750.0%| 900.0%| 900.0% 88.9%| 155.0%| 132.4%| 200.8%| 100.0%| 137.9%| 158.1%| 188.1%] 118.2%| 129.4%| 121.6%| 162.0% 64.7% 113.2% 46.8%| 126.0% 45.7% 86.0% 36.3% 82.9%
= H 463 463 439.8 439.8 450 913 502.0 941.8 466 1,379 521.9 | 1,463.7 579 1,958 611.6 | 2,075.3 574 2,532 611.6 | 2,686.9 832 3,364 | 1,032.6 | 3,719.5
Ril A [ag, 61.5% 43.2% 97.2% 114.1% 103.6% 104.0% 124.2% 117.2% 99.1% 100.0% 144.9% 168.8%
Bl £ R A k| 1245% 124.5%| 155.7%| 155.7% 97.8%| 109.7%| 108.1%| 126.1% 88.3%| 101.4% 79.0%( 104.0% 99.7%| 100.9% 92.1%| 100.2% 89.0% 97.9% 70.7% 91.5% 91.4% 96.2% 94.2% 92.2%

w5 - BAFLEETA -FIERAOKELNT0IDZE ., LEORICI—1ZRRLTEYET,
HELREICALGLTEYFET,



2024 ER A5 THERT

—RHEEABREERBIRS

20244108 20244118 20244128 2025418 2025428 2025438
n £ HE nE HE nE HE nE HE nE HE nE HE nE
EX:| Rt EX:| Rt EXz| Rt EX:| Rt EX:| Rt EXz| Rt EX:| Rt EX:| Rt EXz| Rt EXz| Rt EXz| Rt EX:| Rt
< 1t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
1t/h = < 3t/h 0 2 0.0 30 0 2 0.0 30 0 2 0.0 30 0 2 0.0 30 0 2 0.0 30 0 2 0.0 30
3t/h = < 6t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
k| 6t/h = < 10t/h 0 1 0.0 19.2 0 1 0.0 19.2 0 1 0.0 19.2 0 1 0.0 19.2 0 1 0.0 19.2 0 1 0.0 19.2
10t/h = < 20t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
20t/h = < 30t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
30t/h = < 50t/h 0 0 0.0 0.0 1 1 30.0 30.0 1 2 30.0 60.0 0 2 0.0 60.0 0 2 0.0 60.0 0 2 0.0 60.0
& sovh=< 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
= Hi 0 3 0.0 222 1 4 300 52.2 1 5 300 82.2 0 5 0.0 82.2 0 5 0.0 82.2 0 5 0.0 82.2
Al A 24 — - = - 100.0% 100.0% - - - - - -
B E R A kb —| 500% —| 1233%] 500%| 500% 78.1%| 92.6% —| 625% —| 145.7% —| 625% —| 145.7% —| 625% —| 145.7% —| 625% —| 145.7%
< 1t/h 0 2 0.0 15 0 2 0.0 15 1 3 0.8 23 0 3 0.0 23 0 3 0.0 23 0 3 0.0 23
1t/h = < 3t/h 2 4 40 7.9 0 4 0.0 7.9 0 4 0.0 7.9 1 5 12 9.1 0 5 0.0 9.1 2 7 43 13.4
4m| 3t/h = < 6t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 1 1 48 48 0 1 0.0 48
5| 6t/h = < 10t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
E 10t/h=< 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
Sla Hi 2 6 40 94 0 6 0.0 94 1 7 0.8 102 1 8 12 1.4 1 9 48 16.2 2 1 43 205
Al A t = - - - — — 100.0% 150.0% 100.0% 400.0% 200.0% 89.6%
B & B B k| 2000% 500% 333%| 28.3% —| 429% —| 264%] 500%| 438%| 242%| 26.2% —| 500% —| 293%] 100.0%| 529% 800%| 36.1% 40.0% 500% 13.8%| 26.9%
< 1t/h 2 14 1.0 7.7 7 21 43 12.0 1 22 0.7 127 7 29 5.4 18.1 0 29 0.0 18.1 1 30 0.7 18.8
1t/h = < 3t/h 0 1 0.0 2.2 2 3 3.7 5.9 2 5 24 8.3 0 5 0.0 8.3 0 5 0.0 8.3 1 6 1.1 94
& 3t/h = < 6t/h 0 6 0.0 224 1 7 34 258 1 8 40 298 0 8 0.0 298 0 8 0.0 298 0 8 0.0 298
6t/h = < 10t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 1 1 10.0 10.0
10t/h = < 20t/h 0 1 0.0 10.0 0 1 0.0 10.0 0 1 0.0 10.0 0 1 0.0 10.0 0 1 0.0 10.0 1 2 20.0 30.0
= 20t/h=< 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
= Hi 2 22 1.0 423 10 32 1.4 53.7 4 36 71 60.8 7 43 54 66.2 0 43 0.0 66.2 4 47 318 98.0
A A | 333% 5.4% 500.0% 1140.0% 40.0% 62.3% 175.0% 76.1% — — - -
B &E B B k| 400%| 595%| 17.9%] 145%| 111.1%| 69.6% 233%| 158%| 400%| 64.3%| 157% 15.8% —| 768% —| 17.2% —| 729% —| 170%] 500% 70.1%| 504.8%| 24.8%
< 05t/h 195 | 1,297 435 | 2812 186 | 1,483 378 | 3190 222 | 1,705 475 | 3665 206 | 1,911 427 | 4092 188 | 2,099 421 4513 335 | 2434 734 | 5247
05t/h = < 1t/h| 100 823 606 | 513.0 120 943 75.7| 5887 129 | 1,072 788 | 6675 145 1217 86.8 | 7543 135 | 1,352 854 | 8397 198 | 1550 | 1282 967.9
Bl 1t/h=< 2t/h 73 618 870 | 7326 77 695 954 | 8280 87 782 | 1062 | 9342 86 868 | 1024 | 1,036.6 52 920 60.9 | 1,0975 114 | 1034 | 133812313
2t/h = < 3t/h| 106 764 | 224016315 151 915 [ 3310 1,9625 152 | 1,067 | 3375 | 2,300.0 225 | 1,292 | 483027830 128 | 1420| 276530595 184 | 1604 | 3960 | 34555
3t/h=< 23 234 770 | 8500 40 274 | 1320 9820 32 306 [ 121.0 | 1,103.0 24 330 77.0 | 1,180.0 24 354 880 | 1,268.0 94 448 | 3950 | 1,663.0
piod P23 g| 497 3736 | 492140083 574 | 4310 | 671.9 | 46802 622 | 4932 691053712 686 | 5618 | 7919 |6,163.1 527 | 6,145 | 5529 |6,716.0 925 | 7,070 [ 1,126.4 | 7.842.4
A A | 61.7% 49.9% 115.5% 136.5% 108.4% 102.8% 110.3% 114.6% 76.8% 69.8% 175.5% 203.7%
B & B B k| 936%| 965%| 949%| 982%| 824% 944%| 89.9%| 96.9% 91.5%| 940%| 86.2%| 954%| 101.5%| 949%| 886% 945%| 91.7% 946% 102.1%| 95.1%| 129.7%| 98.0%| 119.5%| 97.9%
= B 501 | 3767 | 497.1 | 40822 585 | 4,352 | 713347955 628 | 4980 | 728955244 694 | 5674 | 798563229 528 | 6,202 | 557.7 | 6,880.6 931 [ 7,133 11625 | 8,043.1
ﬁ%ﬁﬁ A | 61.8% 49.5% 116.8% 143.5% 107.4% 102.2% 110.5% 109.5% 76.1% 69.8% 176.3% 208 4%
B &E B A k| 923w 96.0%| 89.7%| 923w 824% 939%| 852%| 91.1%| 90.8%| 935%| 85.8%| 904%| 102.7%| 945%| 893%| 903%| 91.2% 942%| 101.2%| 91.1%| 1282% 97.6%| 118.6%| 94.2%

w5 - BAFLEETA -FIERAOKELNT0IDZE ., LEORICI—1ZRRLTEYET,
HELREICALGLTEYFET,




2024 ER A5 THERT
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20245108 20245111 20245121 20255118 2025521 20255 3R
n % HE P HE P HE P HE P HE P HE P
L8 | REt | 48 | Ret | 48 | Ret | 48 | REt | 48 | Rit | 48 | Rt | LA | R | LA | RE | 8 | RE | 45 | RE | 48 | RE | 45 | Rt
< 1t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 00 0 0 0.0 00
1t/h= < 3t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 1 1 20 20 2 3 3.5 55 0 3 0.0 55
3t/h= < 6t/h 0 3 0.0 9.0 0.0 3.0 0.0 9.0 0 3 0.0 9.0 0 3 0.0 9.0 0 3 0.0 9.0 0 3 0.0 9.0
K| 6t/h < <10t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 00 0 0 00 00
10t /h < < 20t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 00 0 0 00 00
20t/h < < 30t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 00 0 0 0.0 00
30t/h < < 50t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 00 0 0 00 00
50t/h < < 80t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 00 0 0 0.0 00
i&| 80t/h=< 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 00 0 0 00 00
& it 0 3 0.0 90 0 3 0.0 90 0 3 0.0 90 1 4 20| 110 2 6 35| 145 0 6 00| 145
Al A t — = = = = = = = 200.0% 175.0% = =
B &£ B A K = = = = = = = = = = = = = = = = = = = = = = = =
& B 0 0 0.0 00 0 0 0.0 00 0 0 0.0 00 0 0 0.0 00 0 0 0.0 00 0 0 0.0 00
}5_; B A t = = = = = = = = = = = =
B £ B A i = = = = = = = = = = = = = = = = = = = = = = = =
& B 0 1 0.0 23 0 1 0.0 23 0 1 0.0 23 0 1 0.0 23 0 1 0.0 23 0 1 0.0 23
gﬁ B A t = = = = = = = = = = = =
B £ B A i = = = = = = = = = = = = = = = = = = = = = = = =
- & 5 19 113 35.8 158.9 42 155 36.3 195.2 22 177 333 228.5 13 190 115 240.0 21 211 240 264.0 46 257 84.8 348.8
;FL Al A e[ 105.6% 185.5% 221.1% 101.4% 52.4% 91.7% 59.1% 34.5% 161.5% 208.7% 219.0% 353.3%
Bl £ B A k| 100.0% 85.0% 44.1% 65.3%] 247.1%| 103.3%| 148.8% 72.9% 40.0% 86.3% 99.1% 75.8% 28.9% 76.0% 15.1% 63.6% 72.4% 75.6% 54.8% 62.6%] 170.4% 84.0%| 215.8% 75.7%
& 5 19 117 35.8 170.2 42 159 36.3 206.5 22 181 333 239.8 14 195 135 253.3 23 218 215 280.8 46 264 84.8 365.6
% Al A =4 90.5% 126.5% 221.1% 101.4% 52.4% 91.7% 63.6% 40.5% 164.3% 203.7% 200.0% 308.4%
Bl £ B A k| 100.0% 88.0% 44.1% 70.0%] 247.1%| 106.0%| 148.8% 77.1% 40.0% 88.3% 99.1% 79.6% 31.1% 78.0% 17.7% 67.1% 79.3% 78.1% 62.8% 66.6%] 170.4% 86.3%| 215.8% 79.4%
& & 520 | 3884 | 5329 [ 42524 627 | 4511 | 7496 | 50020 650 | 5161 | 762257642 708 | 5869 | 812065762 551 | 6420 | 585271614 977 | 7,397 | 1,247.3 | 8.408.7
il A =4 62.5% 51.6% 120.6% 140.7% 103.7% 101.7% 108.9% 106.5% 77.8% 72.1% 177.3% 213.1%
i £ R A | 925% 957%| 839%| 91.1%] 862 943%| 87.0%| 90.5%| 87.0%| 93.3%| 86.3%| 89.9%| 98.2%| 939%| 837%| 89.1%| 906%| 936% 984%| 89.8%| 129.7%| 97.1%| 122.4%| 9354

w5 - BAFLEETA -FIERAOKELNT0IDZE ., LEORICI—1ZRRLTEYET,
HELREICALGLTEYFET,



